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SET-2
Series BVM/3 o Nz. 64/3/2
qd .
qiereff wie gfeqsht & q@-

Candidates must write the Code on the
title page of the answer-book.

o THUAT I R W foh 38 Y97 H Hlgd I8 12 § 9T 2 I8 HHIH % 7 |

o TH-TA H M T A AR U MU FHe T H BH IW-Yfedd &k JEIE W
forg |

o HIA T B W foh 3 TA-TAH 22 T F |

o HUAT T H IW 1T I[E HI | UgeA, T T ShHATSH 7999 ford |

o IH YH-UA HI UG oh [T 15 e 1 T9F fon T 8 | WHA-UH 1 T qahg
T 10.15 & foham ST | 10.15 &1 & 10.30 S Ak DT shad I¥H-US h Ugn
3R 3G 79(Y & TR o IT-YREdeh! T I3 I T8 for@ |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)
GEOGRAPHY (Theory)
AeriRa ager : 3 o2 3EIHTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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(i) FTHH-ITHFAL2FHE |

Gi) @ geT AT E

(iii) ¥o7 GEIT1 G 7 37fd TY-IFT F97 & | IAF J9T 1 3% BT & | IAP Jo7 BT
IR 40 V=51 @ e 75T FT =R |

(iv) 37 G&I1 8 T13 TY-ITHIT J97 & | J4% 97 3 37 & & | IA% Jo7 H
I 80-100 Vel & e 7E FHT WY |

(v)  ¥97 &I 14 T 20 FH-3T00F F97 & | 9% J97 5 b FT 8 | Idb 97 H7
IR 150 ¥Is5] G 37 787 5147 03T |

(i) I T&IT 21 1T T 1 GEET a9 IS A i & qeatid 8, 3e
gear 22 s e #1 1l @ 39gw gl @ @i @ gafia 8 | 39%
Y975 3B B 5 |

(vii) STT9H! 13T TT fava a1 GRA & IGT-FrlTA H FH-JIETH d GAT T
&/

(viii) IGI-FAE & Gl & 077 RI-aeT 1 2xaeied & I991T H1 3FHIT &1 1l
g/

General Instructions :
(1) There are 22 questions in all.
(it)  All questions are compulsory.

(iit) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5§ marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5§ marks each.

(vii) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

fifther SR g0 & 718 TeheqdT T HeATeh hIT |
Evaluate the concept introduced by Griffith Taylor.

el 1 w1 forg foRameRe o 3T=atiq 3TaT 8 2

Which activity covers the work of a washerman ?

“Ttertur’ STee <k forgerur HIfST |
areraT
“fafrmior’ sree <1 fogamur Hifvg |

Analyse the term ‘Mechanisation’.
OR
Analyse the term ‘Manufacturing’.

‘gfee aqgt wm’ = faeefira foram w2
Why was ‘Haldia seaport’ developed ?

URd | TShl o Tcd ol 3Tk T fopm TohR goTferd shiat 8 2

How does economic development influence the road density in India ?

T qT T Sl ° sIaE o ATYR I 37X TIs hifoy |
YT
ITYoT qem T SfEqa § "HTieieh FaYl o YN 9T 3T T hifoT |

Differentiate between Rural and Urban settlements on the basis of
occupation.

OR
Differentiate between Rural and Urban settlements on the basis of social
relationship.

WS & &9 | dS(eErse hl 1 ITAAET g 2

AT
‘@i’ wreg @t TitwTiYa i |
What is the utility of Bauxite as a mineral ?

OR
Define the term ‘Mineral’.



Qs @
SECTION B

TOR # 9NN % fou gest f @t wa sum wfY i T dF fesrwarsti
TG T | 1x3=3

Examine any three characteristics of ‘market gardening and horticulture’
in the world.

f= few T @ w1 stemEE Hife 3 3ge = few Tu ywEt % I fafEw
Ix3=3

(9.1) 38 TsF 1 99 fofae fad w7 seura @9 feoa 2 |
(9.2) 38 GAF I -G IGHF Iiagd i giaemd JegH Har g ?
(9.3) 39 ST G % I Ik o1 G AIq -4 8 ?



Study the diagram given below and answer the questions that follow :

Steel Plant

Raipur

Dalli Rajhara Hills

sy

.{/ Tandula

Tank

Mahanadi River

Y Steel Plant
E 4 Dolomite
B Manganese
Iron-Ore
Coal

e Iron

srwrwe Railway Line

(9.1) Name the State in which this steel plant is located.

(9.2) Which rail route provides transport facilities to this plant ?

(9.3) What is the main source of power for this steel plant ?

iz :  FHElIET 397 Fa FIRATET TALTIAAT & 1070, F97 G&I1 9 & €47 T8

Note: The following question is for the Visually Impaired Candidates only,

in lieu of Q. No. 9 :

21eT 359Td G399 b1 gl ofi9 foranstt <hi samen hifsu |

Explain any three characteristics of Tata Steel Plant.

I1x3=3

P.T.O.



11.

qd # Tfesd Tl afeaai’ 61 fheel o foRivarsti &1 qoared hifve | 1x3=3
AT

ia o fior sfeqat o faftm sl ot wwifad s 9Tt SReRl ST Hodie

IS | 1x3=3

Evaluate any three features of the ‘clustered rural settlements’ in India.
OR

Evaluate the factors affecting the different types of rural settlements in

India.

= fou o gl w1 gEuEigds s i it 3us A= fiu T gt %
IR foflau . 1+1+1=3

507

(11.1) 38 S|P bl Ug=THT q7 38R 9 fafigu |
(11.2) I8 TET foh T & BIeht ol B ?
(11.3) 38 ST o 37Tk AT hl TISE hIfWT |
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(11.1) Identify the waterway and name it.
(11.2) Through which countries does this waterway pass ?
(11.3) Explain the economic importance of this waterway.

g :  FHEIIGT J97 FacT BT ghgnean & o7g, Jo7 G&a1 11 & €97 W&
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 11 :

SIS NN SIAHNT <l fohra] i fRINATSTT <l T8 HIT | 1x3=3

Explain any three characteristics of the Danube inland waterway.

12. #H9 o™ & #egm U 9 eun hl fordl 1 fomiwareti w1 fawawo
FHifer | 1x3=3

Analyse any three features of countries with medium levels of human
development.
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13. TER § SHESIT & =01 § U8 & Hohd a1l foheal b ST <hl 3ST8WN
wfga samE $ify | 1x3=3
srqa
TOR T Jeiary S9ed o foaquor #i fhd JehRr ywifaa et 8 2 3gewl aigd
Tqse HIf | 2+1=3

Explain with examples any three measures that can be helpful in
population control in the world.
OR

How does the climate influence the distribution of population in the
world ? Explain with examples.

Qug T
SECTION C

14. A GEEET & LU & oI, 991 T GUBY i foheal ql faftrei & #agw &
aﬂﬁ@ml 2£+2i:5

2 2
Describe the importance of any two rainwater harvesting methods to
conserve water resources.

15. H9R # fawmsia esn <l e afeqai il ‘aaieiia gaenst’ il 3eEn
gfgd samean iy | Ix5=5

Explain with examples the ‘environmental problems’ of urban
settlements of developing countries in the world.

16. A<ISIT S99 o fospr@ &t 3gEn gfgd samen Sl | 5

AT

IS AR o AUR o ®4 H SHEH HH hl ¢RI Gled T
HIT | 5

Explain with examples the development of International Trade.

OR

Explain with examples the population factor as the basis of international
trade.



17. YRA ® Y9E 6 gHI &1, 3G a7 Tqed W US4 dTel ATelsh IRumsl 1 o
HINT | 1x5=5

AYAT
ARG ! ST H JarE hl TUET o & AR hl IgE hioT | YRd |
IR Jad sl IR grIsTi sl Tse HIfT | 1+4=5

Describe the economic consequences of migration on both areas of origin

and destination in India.

OR

Mention the two bases of migration as enumerated in the Census of

India. Explain the four streams of internal migration in India.

18. ¥Rd ¥ Y Y-ITART 3 HEd &l IUMH HIWT | 5

Describe the importance of agricultural land use in India.

19. ‘MG g g hl GRAT foaflgy | GOR § et AUR’  “oieh =R |
AT TqSE I | 1+4=5

Define the term ‘Trading Centre’. Differentiate between ‘Retail Trading’
and ‘Wholesale Trading’ in the World.

20. <reft yeadia A # yE fopw e ‘g gyt & o wisen’ @ e
Y, | 5

Analyse the ‘Drought Prone Area Development Programme’ initiated

during the Fourth Five Year Plan.

641372 9 PO,



21. TER % fou U veHifas WerAmiE (98 13 W), | d9f9 Wi @@ A,
B, C, D 3R E ¥ fegrn mn 3 | F=fafaq SHerl 6 #ee @ 37 @son A

YEeM Shifoy 37 37k T@l M Ib g Wit 78 Wt W il Ix5=5
A, 3I=A9 SHEE gig & 9 ¢

B. VHEIUTHNE HfY 1 T &3

c. umfEdH

D. &% i 3 § WEGIY 1 Th a1 oF

E. ST<RISE gaTs o

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
these features with the help of the following information and write their
correct names on the lines drawn on the map near them :

A. The country having highest growth rate of population

An area of Mediterranean agriculture

A Mega city

A large country of the continent in terms of area

"o aw

An international airport

g :  FAEIREGT Fo e giRantaa ghgntdel & oy, yv7 g 21 @ €9
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TER H I=aH SHEEAT Jig & el ¢ 1 AW e |

(21.2) enEgfern & forelt ush yHemmmRiT Y &= % 9 fafew |

(21.3) WM % feret weh W f&t w1 am foafm |

(21.4) 3T SN H &ABA ohl g § a9 TS ¢ HH-AT 8 ?

(21.5) cferor smfien & forelt T ST=auisE Ay aeH 1 AW ffE | 1x5=5

(21.1) Name the country having the highest growth rate of population

in the world.
(21.2) Name any one area of Mediterranean agriculture of Australia.
(21.3) Name any one Mega city of Japan.
(21.4) Which is the largest country in terms of area in North America ?

(21.5) Name any one international airport of South America.
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22. WA % QU U TSHIfae W@-AFRE (I8 15 W), # Hefaiad Wi aeon
U ¥ gt grer ! 3uTH @l ¥ guIisy 3R Ik A fafaw Ix5=5

(22.1) T4 fohE Yo § qai= &M J16l TS

(22.2) Galfeeh SHEE T4 (2011) ITEAT T
(22.3) HITheH T STV IcaTEeh U

(22.4) SATSHAT — g I T &

(22.5) USTE H dA MY HREH!

(22.6) HTeH H I T IJEM hrg

(22.7) 7Y YW § YHW YL UTH
(22.8) qd-ufeem Tferan 1 g DR 1 TAH

Locate and label any five of the following geographical features on the
political outline map of India with appropriate symbols (on page 15) :

(22.1) The State having the highest rank in the Human Development
Index

(22.2) The State having highest population density (2011)
(22.3) The leading groundnut producer State

(22.4) Bailadila — iron ore mines

(22.5) An oil refinery in Punjab

(22.6) A centre of cotton textile industry in Karnataka
(22.7) The major seaport in Andhra Pradesh

(22.8) The eastern terminal station of East-West Corridor

641312 11 P.T.0.
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Eh%

g :  HAelciEa 397 dac glEEad ghentdel & 070, 397 G&9r 22 @ T W
& | fabgl uiar 7] & R [1&q |

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 22. Attempt any five questions.
(22.1) R 1 HIH-A1 TsT G foh™ Foehish § Tai= $IH W g ?

(22.2) WA o fohd TT § TG 1 Bcd (2011) TaTfeh 8 2

(22.3) WRA H YThell 1 IO IeuTEeh TST HH-H1 3 ?

(22.4) SATMSAT — TlIg 3TAEH G & fohm T 0 e 8 2

(22.5) U H fEdA T WA HREH 1 AW IRET |

(22.6) e | feuq foreft weh Ft o 3T oheg b1 AW fIRaT |

(22.7) 3Ny YW § ¥ yg@ Tl uaq o1 AW forfau |

(22.8) TA-UfTem TR o Yo BR o TIM & 99 AT | 1x5=5

(22.1) Which State of India has the highest rank in the Human

Development Index ?

(22.2) In which State of India is the density of population (2011) the
highest ?

(22.3) Which State of India is the leading producer in groundnut ?
(22.4) In which State are the Bailadila — iron ore mines located ?

(22.5) Name the oil refinery located in Punjab.

(22.6) Name any centre of cotton textile industry located in Karnataka.
(22.7) Name the major sea port located in Andhra Pradesh.

(22.8) Name the easternmost place of East-West Corridor.

641312 12



For question no. 21
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I F. 22 % forw For question no. 22
WA hT F@T-UH e (T iferes)
Outline Map of India (Political)

68° 1 76° 80° g4° 88° 92° 96° 100°
T L] T T 1 1 1 1] ]
aof -~ o
36 PEEN 36
S e TP
( 4
L
32°F B{\ ! \Qc } —432°
28 28°
24°F 24°
20°k 20°
]60 = lso
12°F 12°
gt &
°r 1 1 1 1 1 1 1 14°
7 76° 80° 84° 88° 92° 96°




